Office of Field Experience

Survey Assessment

Survey Form:	Student Teacher's Self Report (STSR)
Semester:	Spring 2011
Respondents (N):	83
Date Analyzed:	8/25/2011

Variab	le Key
v1	Homeroom or opening exercises
v2	Recognizing age-group behavior patterns
v3	Individual student help/tutoring
v4	Worked with small groups
v5	Used a variety of teaching strategies
v6	Correcting tests/homework
v7	Audio-visual materials usage
v8	Duplicating materials
v 9	Developing lesson plans/materials
v10	Use of team-teaching techniques
v11	Adapting lessons to varied ability levels
v12	Preparing tests and/or reports
v13	Observing parent interviews
v14	Use of community resources
v15	Knowledge of school law
v16	Use of the library
v17	Extra-class activities
v18	Faculty/department meetings
v19	Helping in emergencies
v20	Regular critique sessions with cooperating teacher
V21	Other:

Aggregate

			Under	rgrad					Post-Ba	c/MAT					Tot	tal		
	Ye	es	N	0	To	tal	Y	es	N	0	To	tal	Ye	es	No	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	60	90.9%	6	9.1%	66	100.0%	15	88.2%	2	11.8%	17	100.0%	75	90.4%	8	9.6%	83	100.0%
v2	62	93.9%	4	6.1%	66	100.0%	16	94.1%	1	5.9%	17	100.0%	78	94.0%	5	6.0%	83	100.0%
v3	64	97.0%	2	3.0%	66	100.0%	16	94.1%	1	5.9%	17	100.0%	80	96.4%	3	3.6%	83	100.0%
v4	63	95.5%	3	4.5%	66	100.0%	16	94.1%	1	5.9%	17	100.0%	79	95.2%	4	4.8%	83	100.0%
v5	65	98.5%	1	1.5%	66	100.0%	17	100.0%	0	.0%	17	100.0%	82	98.8%	1	1.2%	83	100.0%
v6	64	97.0%	2	3.0%	66	100.0%	15	88.2%	2	11.8%	17	100.0%	79	95.2%	4	4.8%	83	100.0%
v7	60	90.9%	6	9.1%	66	100.0%	15	88.2%	2	11.8%	17	100.0%	75	90.4%	8	9.6%	83	100.0%
v8	65	98.5%	1	1.5%	66	100.0%	14	82.4%	3	17.6%	17	100.0%	79	95.2%	4	4.8%	83	100.0%
v9	65	98.5%	1	1.5%	66	100.0%	17	100.0%	0	.0%	17	100.0%	82	98.8%	1	1.2%	83	100.0%
v10	57	86.4%	9	13.6%	66	100.0%	14	82.4%	3	17.6%	17	100.0%	71	85.5%	12	14.5%	83	100.0%
v11	62	93.9%	4	6.1%	66	100.0%	17	100.0%	0	.0%	17	100.0%	79	95.2%	4	4.8%	83	100.0%
v12	59	89.4%	7	10.6%	66	100.0%	14	82.4%	3	17.6%	17	100.0%	73	88.0%	10	12.0%	83	100.0%
v13	47	71.2%	19	28.8%	66	100.0%	9	52.9%	8	47.1%	17	100.0%	56	67.5%	27	32.5%	83	100.0%
v14	33	50.0%	33	50.0%	66	100.0%	9	52.9%	8	47.1%	17	100.0%	42	50.6%	41	49.4%	83	100.0%
v15	57	86.4%	9	13.6%	66	100.0%	12	70.6%	5	29.4%	17	100.0%	69	83.1%	14	16.9%	83	100.0%
v16	56	84.8%	10	15.2%	66	100.0%	11	64.7%	6	35.3%	17	100.0%	67	80.7%	16	19.3%	83	100.0%
v17	48	72.7%	18	27.3%	66	100.0%	12	70.6%	5	29.4%	17	100.0%	60	72.3%	23	27.7%	83	100.0%
v18	65	98.5%	1	1.5%	66	100.0%	15	88.2%	2	11.8%	17	100.0%	80	96.4%	3	3.6%	83	100.0%
v19	46	69.7%	20	30.3%	66	100.0%	7	41.2%	10	58.8%	17	100.0%	53	63.9%	30	36.1%	83	100.0%
v20	63	95.5%	3	4.5%	66	100.0%	15	88.2%	2	11.8%	17	100.0%	78	94.0%	5	6.0%	83	100.0%
v21	10	15.2%	56	84.8%	66	100.0%	3	17.6%	14	82.4%	17	100.0%	13	15.7%	70	84.3%	83	100.0%

Aggregate

PDS=Yes

			Under	rgrad					Post-Ba	ıc/MAT					Tot	al		
	Y	es	N	0	Tot	tal	Y	es	N	0	To	tal	Y	es	No	0	Tot	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	12	85.7%	2	14.3%	14	100.0%	5	83.3%	1	16.7%	6	100.0%	17	85.0%	3	15.0%	20	100.0%
v2	12	85.7%	2	14.3%	14	100.0%	6	100.0%	0	.0%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v3	13	92.9%	1	7.1%	14	100.0%	6	100.0%	0	.0%	6	100.0%	19	95.0%	1	5.0%	20	100.0%
v4	12	85.7%	2	14.3%	14	100.0%	6	100.0%	0	.0%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v5	14	100.0%	0	.0%	14	100.0%	6	100.0%	0	.0%	6	100.0%	20	100.0%	0	.0%	20	100.0%
v6	14	100.0%	0	.0%	14	100.0%	5	83.3%	1	16.7%	6	100.0%	19	95.0%	1	5.0%	20	100.0%
v7	11	78.6%	3	21.4%	14	100.0%	6	100.0%	0	.0%	6	100.0%	17	85.0%	3	15.0%	20	100.0%
v8	14	100.0%	0	.0%	14	100.0%	4	66.7%	2	33.3%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v9	14	100.0%	0	.0%	14	100.0%	6	100.0%	0	.0%	6	100.0%	20	100.0%	0	.0%	20	100.0%
v10	12	85.7%	2	14.3%	14	100.0%	6	100.0%	0	.0%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v11	12	85.7%	2	14.3%	14	100.0%	6	100.0%	0	.0%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v12	12	85.7%	2	14.3%	14	100.0%	4	66.7%	2	33.3%	6	100.0%	16	80.0%	4	20.0%	20	100.0%
v13	10	71.4%	4	28.6%	14	100.0%	3	50.0%	3	50.0%	6	100.0%	13	65.0%	7	35.0%	20	100.0%
v14	8	57.1%	6	42.9%	14	100.0%	4	66.7%	2	33.3%	6	100.0%	12	60.0%	8	40.0%	20	100.0%
v15	11	78.6%	3	21.4%	14	100.0%	5	83.3%	1	16.7%	6	100.0%	16	80.0%	4	20.0%	20	100.0%
v16	12	85.7%	2	14.3%	14	100.0%	5	83.3%	1	16.7%	6	100.0%	17	85.0%	3	15.0%	20	100.0%
v17	10	71.4%	4	28.6%	14	100.0%	5	83.3%	1	16.7%	6	100.0%	15	75.0%	5	25.0%	20	100.0%
v18	13	92.9%	1	7.1%	14	100.0%	6	100.0%	0	.0%	6	100.0%	19	95.0%	1	5.0%	20	100.0%
v19	11	78.6%	3	21.4%	14	100.0%	4	66.7%	2	33.3%	6	100.0%	15	75.0%	5	25.0%	20	100.0%
v20	12	85.7%	2	14.3%	14	100.0%	6	100.0%	0	.0%	6	100.0%	18	90.0%	2	10.0%	20	100.0%
v21	2	14.3%	12	85.7%	14	100.0%	2	33.3%	4	66.7%	6	100.0%	4	20.0%	16	80.0%	20	100.0%

Aggregate

PDS=No

			Under	rgrad					Post-Ba	c/MAT					Tot	al		
	Yo	es	N	0	To	tal	Y	es	N	0	To	tal	Ye	es	No	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	46	92.0%	4	8.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	56	91.8%	5	8.2%	61	100.0%
v2	48	96.0%	2	4.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	58	95.1%	3	4.9%	61	100.0%
v3	49	98.0%	1	2.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	59	96.7%	2	3.3%	61	100.0%
v4	49	98.0%	1	2.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	59	96.7%	2	3.3%	61	100.0%
v5	49	98.0%	1	2.0%	50	100.0%	11	100.0%	0	.0%	11	100.0%	60	98.4%	1	1.6%	61	100.0%
v6	48	96.0%	2	4.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	58	95.1%	3	4.9%	61	100.0%
v 7	47	94.0%	3	6.0%	50	100.0%	9	81.8%	2	18.2%	11	100.0%	56	91.8%	5	8.2%	61	100.0%
v8	49	98.0%	1	2.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	59	96.7%	2	3.3%	61	100.0%
v9	49	98.0%	1	2.0%	50	100.0%	11	100.0%	0	.0%	11	100.0%	60	98.4%	1	1.6%	61	100.0%
v10	44	88.0%	6	12.0%	50	100.0%	8	72.7%	3	27.3%	11	100.0%	52	85.2%	9	14.8%	61	100.0%
v11	48	96.0%	2	4.0%	50	100.0%	11	100.0%	0	.0%	11	100.0%	59	96.7%	2	3.3%	61	100.0%
v12	45	90.0%	5	10.0%	50	100.0%	10	90.9%	1	9.1%	11	100.0%	55	90.2%	6	9.8%	61	100.0%
v13	35	70.0%	15	30.0%	50	100.0%	6	54.5%	5	45.5%	11	100.0%	41	67.2%	20	32.8%	61	100.0%
v14	24	48.0%	26	52.0%	50	100.0%	5	45.5%	6	54.5%	11	100.0%	29	47.5%	32	52.5%	61	100.0%
v15	44	88.0%	6	12.0%	50	100.0%	7	63.6%	4	36.4%	11	100.0%	51	83.6%	10	16.4%	61	100.0%
v16	42	84.0%	8	16.0%	50	100.0%	6	54.5%	5	45.5%	11	100.0%	48	78.7%	13	21.3%	61	100.0%
v17	37	74.0%	13	26.0%	50	100.0%	7	63.6%	4	36.4%	11	100.0%	44	72.1%	17	27.9%	61	100.0%
v18	50	100.0%	0	.0%	50	100.0%	9	81.8%	2	18.2%	11	100.0%	59	96.7%	2	3.3%	61	100.0%
v19	34	68.0%	16	32.0%	50	100.0%	3	27.3%	8	72.7%	11	100.0%	37	60.7%	24	39.3%	61	100.0%
v20	49	98.0%	1	2.0%	50	100.0%	9	81.8%	2	18.2%	11	100.0%	58	95.1%	3	4.9%	61	100.0%
v21	8	16.0%	42	84.0%	50	100.0%	1	9.1%	10	90.9%	11	100.0%	9	14.8%	52	85.2%	61	100.0%

By Program^a

			Under	grad					Post-Ba	ıc/MAT					Tot	tal		
	Y	es	N	0	To	tal	Y	es	N	0	To	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v2	4	100.0%	0	.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v3	3	75.0%	1	25.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	3	60.0%	2	40.0%	5	100.0%
v4	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v5	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v6	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v7	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v8	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v9	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v10	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v11	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v12	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v13	3	75.0%	1	25.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	3	60.0%	2	40.0%	5	100.0%
v14	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v15	3	75.0%	1	25.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	3	60.0%	2	40.0%	5	100.0%
v16	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v17	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v18	4	100.0%	0	.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	5	100.0%	0	.0%	5	100.0%
v19	3	75.0%	1	25.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	3	60.0%	2	40.0%	5	100.0%
v20	3	75.0%	1	25.0%	4	100.0%	1	100.0%	0	.0%	1	100.0%	4	80.0%	1	20.0%	5	100.0%
v21	1	25.0%	3	75.0%	4	100.0%	0	.0%	1	100.0%	1	100.0%	1	20.0%	4	80.0%	5	100.0%

a. Program = Missing

By Program^a

			Under	rgrad					Post-Ba	ıc/MAT					To	tal		
	Yo	es	N	0	To	tal	Y	es	N	0	Tot	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	2	66.7%	1	33.3%	3	100.0%	2	66.7%	1	33.3%	3	100.0%	4	66.7%	2	33.3%	6	100.0%
v2	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	6	100.0%	0	.0%	6	100.0%
v3	2	66.7%	1	33.3%	3	100.0%	3	100.0%	0	.0%	3	100.0%	5	83.3%	1	16.7%	6	100.0%
v4	2	66.7%	1	33.3%	3	100.0%	2	66.7%	1	33.3%	3	100.0%	4	66.7%	2	33.3%	6	100.0%
v5	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	6	100.0%	0	.0%	6	100.0%
v6	2	66.7%	1	33.3%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	3	50.0%	3	50.0%	6	100.0%
v7	3	100.0%	0	.0%	3	100.0%	2	66.7%	1	33.3%	3	100.0%	5	83.3%	1	16.7%	6	100.0%
v8	3	100.0%	0	.0%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	4	66.7%	2	33.3%	6	100.0%
v9	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	6	100.0%	0	.0%	6	100.0%
v10	2	66.7%	1	33.3%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	3	50.0%	3	50.0%	6	100.0%
v11	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	6	100.0%	0	.0%	6	100.0%
v12	3	100.0%	0	.0%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	4	66.7%	2	33.3%	6	100.0%
v13	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	6	100.0%	6	100.0%
v14	1	33.3%	2	66.7%	3	100.0%	0	.0%	3	100.0%	3	100.0%	1	16.7%	5	83.3%	6	100.0%
v15	3	100.0%	0	.0%	3	100.0%	2	66.7%	1	33.3%	3	100.0%	5	83.3%	1	16.7%	6	100.0%
v16	2	66.7%	1	33.3%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	3	50.0%	3	50.0%	6	100.0%
v17	2	66.7%	1	33.3%	3	100.0%	0	.0%	3	100.0%	3	100.0%	2	33.3%	4	66.7%	6	100.0%
v18	3	100.0%	0	.0%	3	100.0%	2	66.7%	1	33.3%	3	100.0%	5	83.3%	1	16.7%	6	100.0%
v19	2	66.7%	1	33.3%	3	100.0%	1	33.3%	2	66.7%	3	100.0%	3	50.0%	3	50.0%	6	100.0%
v20	3	100.0%	0	.0%	3	100.0%	3	100.0%	0	.0%	3	100.0%	6	100.0%	0	.0%	6	100.0%
v21	1	33.3%	2	66.7%	3	100.0%	0	.0%	3	100.0%	3	100.0%	1	16.7%	5	83.3%	6	100.0%

a. Program = Art

By Program^a

			Under	rgrad					Post-Ba	c/MAT					To	tal		
	Ye	es	N	0	To	tal	Ye	es	N	0	Tot	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v2	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v3	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v4	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v5	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v6	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v7	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v8	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v9	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v10	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v11	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v12	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v13	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v14	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v15	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v16	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v17	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v18	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v19	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v20	1	100.0%	0	.0%	1	100.0%	0	.0%	0	.0%	0	.0%	1	100.0%	0	.0%	1	100.0%
v21	0	.0%	1	100.0%	1	100.0%	0	.0%	0	.0%	0	.0%	0	.0%	1	100.0%	1	100.0%

a. Program = P-3

By Program^a

			Under	rgrad					Post-Ba	c/MAT					To	tal		
	Ye	es	N	0	To	tal	Ye	es	No	O	Tot	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v2	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v3	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v4	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v5	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v6	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v 7	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v8	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v9	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v10	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v11	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v12	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v13	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v14	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v15	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v16	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v17	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v18	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v19	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%
v20	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%
v21	0	.0%	6	100.0%	6	100.0%	0	.0%	0	.0%	0	.0%	0	.0%	6	100.0%	6	100.0%

a. Program = P-3/K-5

By Program^a

			Under	rgrad					Post-Ba	c/MAT					Tot	tal		
	Ye	es	N	0	To	tal	Y	es	No	0	To	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v2	6	75.0%	2	25.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	13	86.7%	2	13.3%	15	100.0%
v3	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v4	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v5	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v6	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v 7	8	100.0%	0	.0%	8	100.0%	6	85.7%	1	14.3%	7	100.0%	14	93.3%	1	6.7%	15	100.0%
v8	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v9	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v10	7	87.5%	1	12.5%	8	100.0%	6	85.7%	1	14.3%	7	100.0%	13	86.7%	2	13.3%	15	100.0%
v11	7	87.5%	1	12.5%	8	100.0%	7	100.0%	0	.0%	7	100.0%	14	93.3%	1	6.7%	15	100.0%
v12	8	100.0%	0	.0%	8	100.0%	7	100.0%	0	.0%	7	100.0%	15	100.0%	0	.0%	15	100.0%
v13	5	62.5%	3	37.5%	8	100.0%	5	71.4%	2	28.6%	7	100.0%	10	66.7%	5	33.3%	15	100.0%
v14	4	50.0%	4	50.0%	8	100.0%	3	42.9%	4	57.1%	7	100.0%	7	46.7%	8	53.3%	15	100.0%
v15	7	87.5%	1	12.5%	8	100.0%	5	71.4%	2	28.6%	7	100.0%	12	80.0%	3	20.0%	15	100.0%
v16	7	87.5%	1	12.5%	8	100.0%	5	71.4%	2	28.6%	7	100.0%	12	80.0%	3	20.0%	15	100.0%
v17	6	75.0%	2	25.0%	8	100.0%	5	71.4%	2	28.6%	7	100.0%	11	73.3%	4	26.7%	15	100.0%
v18	8	100.0%	0	.0%	8	100.0%	6	85.7%	1	14.3%	7	100.0%	14	93.3%	1	6.7%	15	100.0%
v19	6	75.0%	2	25.0%	8	100.0%	3	42.9%	4	57.1%	7	100.0%	9	60.0%	6	40.0%	15	100.0%
v20	7	87.5%	1	12.5%	8	100.0%	5	71.4%	2	28.6%	7	100.0%	12	80.0%	3	20.0%	15	100.0%
v21	0	.0%	8	100.0%	8	100.0%	2	28.6%	5	71.4%	7	100.0%	2	13.3%	13	86.7%	15	100.0%

a. Program = K-5

By Program^a

			Under	grad					Post-Ba	c/MAT					Tot	tal		
	Ye	es	No	0	To	tal	Y	es	N	0	To	tal	Y	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	18	100.0%	0	.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	22	100.0%	0	.0%	22	100.0%
v2	16	88.9%	2	11.1%	18	100.0%	4	100.0%	0	.0%	4	100.0%	20	90.9%	2	9.1%	22	100.0%
v3	18	100.0%	0	.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	22	100.0%	0	.0%	22	100.0%
v4	17	94.4%	1	5.6%	18	100.0%	4	100.0%	0	.0%	4	100.0%	21	95.5%	1	4.5%	22	100.0%
v5	18	100.0%	0	.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	22	100.0%	0	.0%	22	100.0%
v6	18	100.0%	0	.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	22	100.0%	0	.0%	22	100.0%
v 7	15	83.3%	3	16.7%	18	100.0%	4	100.0%	0	.0%	4	100.0%	19	86.4%	3	13.6%	22	100.0%
v8	18	100.0%	0	.0%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	21	95.5%	1	4.5%	22	100.0%
v9	18	100.0%	0	.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	22	100.0%	0	.0%	22	100.0%
v10	13	72.2%	5	27.8%	18	100.0%	4	100.0%	0	.0%	4	100.0%	17	77.3%	5	22.7%	22	100.0%
v11	15	83.3%	3	16.7%	18	100.0%	4	100.0%	0	.0%	4	100.0%	19	86.4%	3	13.6%	22	100.0%
v12	13	72.2%	5	27.8%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	16	72.7%	6	27.3%	22	100.0%
v13	12	66.7%	6	33.3%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	15	68.2%	7	31.8%	22	100.0%
v14	6	33.3%	12	66.7%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	9	40.9%	13	59.1%	22	100.0%
v15	12	66.7%	6	33.3%	18	100.0%	4	100.0%	0	.0%	4	100.0%	16	72.7%	6	27.3%	22	100.0%
v16	14	77.8%	4	22.2%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	17	77.3%	5	22.7%	22	100.0%
v17	9	50.0%	9	50.0%	18	100.0%	4	100.0%	0	.0%	4	100.0%	13	59.1%	9	40.9%	22	100.0%
v18	17	94.4%	1	5.6%	18	100.0%	4	100.0%	0	.0%	4	100.0%	21	95.5%	1	4.5%	22	100.0%
v19	10	55.6%	8	44.4%	18	100.0%	3	75.0%	1	25.0%	4	100.0%	13	59.1%	9	40.9%	22	100.0%
v20	17	94.4%	1	5.6%	18	100.0%	4	100.0%	0	.0%	4	100.0%	21	95.5%	1	4.5%	22	100.0%
v21	4	22,2%	14	77.8%	18	100.0%	1	25.0%	3	75.0%	4	100.0%	5	22.7%	17	77.3%	22	100.0%

a. Program = K-5/SPED

By Program^a

			Under	grad					Post-Ba	c/MAT					To	tal		
	Ye	es	N	0	To	tal	Yo	es	N	0	Tot	tal	Yo	es	N	0	To	tal
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%
v1	9	90.0%	1	10.0%	10	100.0%	0	.0%	1	100.0%	1	100.0%	9	81.8%	2	18.2%	11	100.0%
v2	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v3	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v4	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v5	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v6	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v 7	9	90.0%	1	10.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	10	90.9%	1	9.1%	11	100.0%
v8	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v9	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v10	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v11	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v12	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v13	9	90.0%	1	10.0%	10	100.0%	0	.0%	1	100.0%	1	100.0%	9	81.8%	2	18.2%	11	100.0%
v14	7	70.0%	3	30.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	8	72.7%	3	27.3%	11	100.0%
v15	10	100.0%	0	.0%	10	100.0%	0	.0%	1	100.0%	1	100.0%	10	90.9%	1	9.1%	11	100.0%
v16	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v17	8	80.0%	2	20.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	9	81.8%	2	18.2%	11	100.0%
v18	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v19	9	90.0%	1	10.0%	10	100.0%	0	.0%	1	100.0%	1	100.0%	9	81.8%	2	18.2%	11	100.0%
v20	10	100.0%	0	.0%	10	100.0%	1	100.0%	0	.0%	1	100.0%	11	100.0%	0	.0%	11	100.0%
v21	2	20.0%	8	80.0%	10	100.0%	0	.0%	1	100.0%	1	100.0%	2	18.2%	9	81.8%	11	100.0%

a. Program = English

By Program^a

			Under	rgrad					Post-Ba	c/MAT			Total							
	Yo	es	N	0	Total		Ye	es	N	0	Tot	tal	Y	es	No		To	tal		
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%		
v1	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v2	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v3	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v4	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v5	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v6	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v7	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v8	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v9	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v10	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v11	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v12	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v13	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v14	2	50.0%	2	50.0%	4	100.0%	0	.0%	0	.0%	0	.0%	2	50.0%	2	50.0%	4	100.0%		
v15	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v16	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v17	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v18	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v19	3	75.0%	1	25.0%	4	100.0%	0	.0%	0	.0%	0	.0%	3	75.0%	1	25.0%	4	100.0%		
v20	4	100.0%	0	.0%	4	100.0%	0	.0%	0	.0%	0	.0%	4	100.0%	0	.0%	4	100.0%		
v21	1	25.0%	3	75.0%	4	100.0%	0	.0%	0	.0%	0	.0%	1	25.0%	3	75.0%	4	100.0%		

a. Program = Foreign Language

By Program^a

			Unde	rgrad					Post-Ba	c/MAT		Total							
	Yo	es	N	0	Total		Y	es	N	0	To	tal	Y	es	No		Total		
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	
v1	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v2	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v3	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v4	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v5	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v6	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v 7	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v8	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v9	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v10	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v11	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v12	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v13	0	.0%	1	100.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	1	50.0%	1	50.0%	2	100.0%	
v14	0	.0%	1	100.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	1	50.0%	1	50.0%	2	100.0%	
v15	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v16	1	100.0%	0	.0%	1	100.0%	0	.0%	1	100.0%	1	100.0%	1	50.0%	1	50.0%	2	100.0%	
v17	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v18	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v19	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	2	100.0%	2	100.0%	
v20	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	2	100.0%	0	.0%	2	100.0%	
v21	0	.0%	1	100.0%	1	100.0%	0	.0%	1	100.0%	1	100.0%	0	.0%	2	100.0%	2	100.0%	

a. Program = Math

By Program^a

			Under	rgrad					Post-Ba	c/MAT		Total							
	Ye	es	N	0	Total		Ye	es	No	0	Tot	tal	Y	es	No		Total		
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	
v1	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v2	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v3	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v4	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v5	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v6	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v 7	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v8	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v9	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v10	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v11	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v12	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v13	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v14	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v15	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v16	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v17	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v18	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v19	1	50.0%	1	50.0%	2	100.0%	0	.0%	0	.0%	0	.0%	1	50.0%	1	50.0%	2	100.0%	
v20	2	100.0%	0	.0%	2	100.0%	0	.0%	0	.0%	0	.0%	2	100.0%	0	.0%	2	100.0%	
v21	0	.0%	2	100.0%	2	100.0%	0	.0%	0	.0%	0	.0%	0	.0%	2	100.0%	2	100.0%	

a. Program = Music

By Program^a

			Under	grad					Post-Ba	c/MAT			Total							
	Ye	es	N	0	Total		Yes		N	0	Tot	tal	Y	es	No		To	tal		
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%		
v1	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v2	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v3	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v4	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v5	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v6	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v7	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v8	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v9	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v10	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v11	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v12	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v13	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v14	1	33.3%	2	66.7%	3	100.0%	0	.0%	0	.0%	0	.0%	1	33.3%	2	66.7%	3	100.0%		
v15	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v16	1	33.3%	2	66.7%	3	100.0%	0	.0%	0	.0%	0	.0%	1	33.3%	2	66.7%	3	100.0%		
v17	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v18	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v19	1	33.3%	2	66.7%	3	100.0%	0	.0%	0	.0%	0	.0%	1	33.3%	2	66.7%	3	100.0%		
v20	3	100.0%	0	.0%	3	100.0%	0	.0%	0	.0%	0	.0%	3	100.0%	0	.0%	3	100.0%		
v21	1	33.3%	2	66.7%	3	100.0%	0	.0%	0	.0%	0	.0%	1	33.3%	2	66.7%	3	100.0%		

a. Program = Science

By Program^a

			Under	rgrad					Post-Ba	c/MAT			Total							
	Ye	es	N	0	To	tal	Ye	es	N	0	Tot	tal	Y	es	No		To	tal		
	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%	N	%		
v1	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%		
v2	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v3	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v4	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v5	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v6	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v7	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v8	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v9	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v10	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v11	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v12	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v13	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%		
v14	2	33.3%	4	66.7%	6	100.0%	0	.0%	0	.0%	0	.0%	2	33.3%	4	66.7%	6	100.0%		
v15	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v16	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%		
v17	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%		
v18	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v19	5	83.3%	1	16.7%	6	100.0%	0	.0%	0	.0%	0	.0%	5	83.3%	1	16.7%	6	100.0%		
v20	6	100.0%	0	.0%	6	100.0%	0	.0%	0	.0%	0	.0%	6	100.0%	0	.0%	6	100.0%		
v21	0	.0%	6	100.0%	6	100.0%	0	.0%	0	.0%	0	.0%	0	.0%	6	100.0%	6	100.0%		

a. Program = Social Studies